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Instructions:

1. Attempt all questions.
2.
3.
4.
Q.1 (a)
us. 1 A
(b)
o
Q2 (a)
s A
(b)
[}
(b)
ol
Q3 (a)
us. 3w
(b)
(3%

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Each question carry equal marks (14 marks)

Deilne the follqwing.
(1) | Hydrostatics (2) Ideal Fiuid (3) Specific Weight (4) Cohesion and
AdHhesion (5) Surface Tension (6) Specific Gravity (7) Capillary
ol etiofl cartuell 0@,
|
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AU (L) Ypoctlal (5) (AR dotell (9) BrusHal
Explain different types of Pressure and their relationship with line sketch.
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Conyvert the Following.
i) 40 cm of oil of specific gravity 0.8 in meter of walter.
i) 50kN/m” gauge pressure in to absolute pressure.
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Statg and Explajn Pressure Measuring Equipments.
ECURL HIUCloil Aell wRUA dall Ao aglet 53,
\ OR
A rgctangular plate of 2 m X 3m height is immersed in water vertically such

that|its 2m sidg is parallel to and at a depth of 3m below free water surface.
Calgulate total water pressure and depth of center of pressurc.
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State and Expla#n types of flow in a pipe.
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A 40cm X 15 {‘cm venturimeter is fixed in a pipe carrying water. If deflection

of mercury u-tube manometer is 25 cm and Cq = 0.98 calculate discharge.
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Explain Reynold’s Number.

A fliid having
cm diameter. [f
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inematic viscosity 21.4 Stoke is flowing through a pipe of 30
discharge through pipe is 15 lit/sec, decide the type of flow.
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List the practical

application of Bernoulli’s equation and explain any one,
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Explain Hydraul

¢ co-efficients and their relation. Also explain method to find

Hydraulic co-efficients in laboratory.
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A 901 v-notch is|used to measure the discharge of water. The depth of water
above notch is 30 cm. Calculate discharge in lit/sec if C4=0.62
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A jet pf Water islissued from 4 cin diameter arifice under a constant head of
3m. Vertical and| Horizontal co-ordinate of a point on a jet measured from
venacpntracta are[40 cm and 2 m respectively. Calculate C, and Cq if C;=0.63
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Derivg formula for finding discharge over rectangular notch.
clotlliRu wiHiell yelis €2 sluclie] Yot aRdl,

Explaip ‘various
diameter 1250 m

Head losses in pipe flow. Water is flowing through 60 cm
eter long pipe with a velocity of 1m/sec. Find head loss due

to friction if f= 0.004
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State the conditionfs for Most Economical Rectangular section of Channel,
A rectangular channel is having cross sectional area 30 m? and bed slope | in

1200. If Chezy’s
most eqonomical

Constant C=60 , determine the dimensions and Discharge for
section,
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Qs (a) A pipe Ime 3 km long- comprise of 30 om diameter for first { km , 25 cm 07

diameter for next 500m and 20 cm diameter for- the remaining lengfh [f the
pipe is to be replaced by uniform diameter, find equivalent diameter -
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: - {(b) (i) Differentiate Centrifugal and reciprocating Pump - ' 07
(i} Write short note on *Specific Energy Diagram’, I TN
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